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1. Complete the series 

220, 200, 100, 80, 40, 20, ? 

(a) 20 

(b) 10 

(c) 30 

(d) 40 

2. If the letter of RUTHLESS are arranged 

alphabetically then which letter would be the last 

letter? 

(a) T 

(b) E 

(c) H 

(d) U 

3. If REASON is coded as 5, BELIEVED as 7, what 

is the code number of GOVERNMENT? 

(a) 6 

(b) 8 

(c) 9 

(d) 10 

4. A bus for Delhi leaves every thirty minutes from a 

bus stand. An enquiry clerk told a passenger that 

the bus had already left ten minutes ago and the 

next bus will leave at 9.35 a.m. At what time did 

the enquiry clerk give this information to the 

passenger? 

(a) 9.10 a.m. 

(b) 8.55 a.m. 

(c) 9.08 a.m. 

(d) 9.15 a.m. 

5. A lady said, ‘The person standing there is my 

grandfather’s only son’s daughter’ How is the lady 

related to the standing person? 

(a) Sister 

(b) Mother 

(c) Aunt 

(d) Cousin 

6. If 20 – 10 means 200, 8 ÷4 means 12, 6×2 means 4 

then 100 -10 ×1000÷1000 + 100×10=? 

(a) 0 

(b) 20 

(c) 1000 

(d) 1900 

7. Deepak starts walking straight towards east. After 

walking 75 metres, he turns to the left and walks 

25 metres straight. Again he turns to the left, walks 

a distance of 40 metres straight, again he turns to 

the left and walks a distance of 25 metres. How far 

is he from the starting point? 

(a) 25 metres 

(b) 50 metres 

(c) 115 metres 

(d) 35 metres 

8. Choose the correct mirror image 

 

Section – A 
Mental Ability  
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(a)  

(b)   

(c)   

(d)   

9. In certain language, if 1 is coded as A, 2 as B, 3 as 

C, and so on, how is FLOWER coded in that code? 

(a) 6121523518 

(b) 6121823515 

(c) 6211523518 

(d) 6218123515 

10. How many squares does the figure have? 

 
(a) 6 

(b) 7 

(c) 9 

(d) 10 
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11. If m is prime, then n is a composite number and m 

+ n = 240 also their LCM is 4199. Find m and n.  

(a) 13,227 

(b) 17,223 

(c) 19,221 

(d) 23,217 

12. Kiran wanted to type the first 180 natural numbers. 

Find the number of times he had to press the 

numbered keys.  

(a) 384 

(b) 432 

(c) 416 

(d) 448 

13. 

6 3 21

3
9 12

a b c

c a

  



 

(a) 
    

  
 

(b) 
   

  
 

(c) 
    

  
 

(d) 
    

  
 

14. If a is any natural, then a
3
 - 
 

  
 will always be 

greater than or equal to _______. 

(a) 3(  
 

 
) 

(b) a + 
 

 
  

(c) (   
 

  
) 

(d)  (  
 

 
) 

15. The sum of cubes of the `first ‘n’ natural numbers 

= 

2 2

3 3 3 3( 1) ( 1)
[ . .,1 2 3 ... ]

2 2

n n n n
i e n

    
       

   

2 2

3 3 3 3( 1) ( 1)
[ . .,1 2 3 ... ]

2 2

n n n n
i e n

    
       

   
using this result find the value of 11

3
 + 12

3
 + 13

3 

+…. + 20
3
. 

(a) 45,225 

(b) 41,075 

(c) 38,425  

(d) 52,125  

16. If a and b are whole numbers such that a
b
 =512, 

where a > b and 1< b < 4, then √ 
 

 =_____ 

(a) 2 

(b) 3 

(c) 4 

(d) 8 

17. The population of a city increases by 30 % every 

year. If the present population is 338, 000, then 

what was the population of the city two years ago? 

(a) 300,000 

(b) 250,000 

(c) 200,000 

(d) 240,000 

18. The side of square ABCD is 20 % longer than the 

side of square PQRS. By what percentage is the 

area of ABCD more than the area of PQRS?  

(a) 20 %  

(b) 24% 

(c) 40% 

(d) 44%  

19. The ratio of the incomes of P and Q is 5: 4. The 

ratio of their expenditure is 4:3. The savings of P is 

Section – B 
Mathematics  
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more than that of Q by   
 

 
   what percentage of 

his income does P spend? 

(a) 52
 

 
  

(b) 53
 

 
  

(c) 54
 

 
  

(d) 51
 

 
  

20. C and D share a certain sum of money in the ratio 

2
 

 
  

 

 
  if D’s share is Rs 210, then find the total 

sum of money shared.  

(a) Rs 540  

(b) Rs 490  

(c) Rs 480  

(d) Rs 420  

21. If the ratio of the ages (in years) of A and B, 5 

years ago was 5:7, then which of the following can 

be the sum of their ages 5 years from now? 

(a) 90 

(b) 98 

(c) 92 

(d) 87 

22. A mixture contains milk and water in the ratio of 

5:6. On adding 8 litres of water, the ratio of milk 

and water becomes 1:2. Find the quantity of the 

milk in the mixture (in litres).  

(a) 12 

(b) 10 

(c) 14 

(d) 8  

23. A man sells 200 mangoes at the cost price of 250 

man-goes. His profit percentage is ______. 

(a) 12.5% 

(b) 25% 

(c) 20% 

(d) 25.5% 

24. The cost price of a shirt is Rs 900. When it is sold 

at a discount of 10%, a loss of 5% is incurred. Find 

the marked price of the shirt.  

(a) Rs 950 

(b) Rs 1050 

(c) Rs 930 

(d) Rs 1020 

25. Two persons A and B move towards each other 

from P and Q, respectively. They meet 50 kms 

away from Q. if the ratio of the speeds of A and B 

is 4:1, then find the distance between P and Q.  

(a) 200 km  

(b) 175 km  

(c) 125 km  

(d) 250 km  

26. Two taps A and B can fill a tank in 12 min and 20 

min, respectively. If both the pipes are opened for 

10 min then the volume of water which overflows 

as a percentage of the volume of the tank is 

______. 

(a) 25% 

(b) 16
 

 
   

(c) 20% 

(d) 33
 

 
  

27. Which is the greatest among (81)
18

, (243)
15

, (27)
21

 

and (9)
38

?  

(a) (243)
15

 

(b) (27)
21

 

(c) (9)
38

 

(d) (81)
18

 

28. Which of the following is the factor of 4a
2
 + b

2
 – 

4ab + 2b – 4a + 1? 

(a) (a – b)  

(b) (a + b - 2) 

(c) (a – b + 2) 

(d) (2a – b – 1)  
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29. The HCF of the polynomials 10(a – 1) (a – 

2)
3
,120(a – 3) (a – 2)

3
 and 135 (a + 3) (a – 2)

3
 is 

_______.  

(a) 25(a – 3) (a – 2) 

(b) 5(a – 3) (a + 2)  

(c) 5 (a – 2)
3
  

(d) 5 (a – 3) (a – 2) (a + 3)  

30.  In the above figure,  ABD = 20  ,  BDC = 110  

and   DCA = 30 . What is the value of  BAC?   

                                                                       
(a) 30  

(b) 60  

(c) 90  

(d) 120  
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31. Which of the following statements are correct 

regarding formed by a concave lens? 

(i) The nature of image does not change much 

with the change in the object distance 

(ii) Always a virtual image is formed 

(iii) The image is larger in size 

(iv) Image is never formed between the optical 

center and the focus  

(a) Only i, ii and iii 

(b) Only i and ii 

(c) Only iii and iv 

(d) Only ii, iii and iv 

32. When a glass rod is rubbed with a piece of 

silk cloth the rod 

(a) And the cloth both acquire positive charge 

(b) Becomes positively charged while the 

cloth has a negative charge 

(c) And the cloth both acquire negative charge 

(d) Becomes negatively charged while the 

cloth has a positive charge 

33. In an experiment to measure the speed of sound in 

air, a boy stands 140m away from a wall and 

bangs two pieces of wood together. At the instant 

he hears the echo, he bangs them together again. 

He does this activity 50 times. The time taken for 

50 bangs is 12 s. which calculation gives the 

speed of sound in air? 

(a) 12

140 50
 

(b) 140 50

12

  

(c) 140 2 50

12

   

(d) 140 2 12

50

   

34. Complete the sentence. Friction always _____ 

i. Helps the motion 

ii. Opposes the motion 

iii. Both a and b 

iv. None of these  

35. A student sitting in the last row of classroom  

is unable to see the writing on the board. He 

is suffering  from: 

(a) Myopia  

(b) Hypermetropia  

(c) Farsightedness  

(d) Astigmatism  

36. A box is given a push across the floor. It comes to 

stop shortly after moving some distance, which 

one of the following reasons explains this? 

(a) Gravity is acting on the box in the direction 

opposite to the box’s movement  

(b) Friction is acting on the box in the same 

direction of the box’s movement  

(c) Friction is acting on the box in the direction 

opposite to the box’s movement  

(d) The heat produced during the box’s movement 

slows down the box.   

37. Which an airplane flies at a constant speed and 

height above the ground, which statement is true 

about the forces acting on the airplane? 

Section – C 
Science 
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(a) The thrust is equal to the drag 

(b) The lift equal to the weight 

(c) The lift is more than the weight  

(d) Both a and b  

38. When a tuning fork was struck and brought near a 

bucket of water, a wave as shown in figure was 

formed on its surface. If the fork is struck much 

harder and brought near the surface, what will 

increase? 

 
(a) Frequency  

(b) Wavelength  

(c) Velocity  

(d) Amplitude  

39. Rolling friction is smaller than? 

(a) Sliding friction  

(b) Static friction  

(c) Fluid friction  

(d) All of the above  

40. When the Moon is directly between the Sun and 

the Earth, what phase would the Moon be in? 

(a) Full moon 

(b) New moon  

(c) Half moon  

(d) Waxing crescent  

41. Which theromoplastic is known as thermocole? 
i. Polystyrene 

ii. PVC 
iii. Teflon 

iv. Polythene 
42. Which of the following element is metalloid  

i. Si 
ii. Sb 

iii. Fe 
iv. Both a and b 

43. Which of the following reaction will occur? 
i. Zn(s) +CuSo4(aq) → ZnSO4(aq) + Cu(s) 

ii. 2AI(s) + 3ZnSO4(aq) →AI2(SO4)3(aq) + 3Zn(s) 
iii. 3Ca(s) + AI2 (SO4)3 → 3CaSO4(aq) + 2AI(s)  
iv. all of the above 

44. Example of spontaneous combustion is 
i. Burning of calcium 

ii. Burning of lithium 
iii. Burning of phosphorous  
iv. Burning of copper 

45. Ignition temperature of phosphorous is 
i. 650C 

ii. 1000C 
iii. 350C 
iv. 450C  

46. Coal gas is mixture of  
i. CH4, CO2 and H2 

ii. CO2, H2 and O2 
iii. CO, H2 and CH4 
iv. CH4, CO2 and O2 

47. Which of the following is termed as ‘hard coal’? 
i. Lignite  

ii. Peat  
iii. Anthracite 
iv. All of the above 

48. Which of the following is a set of insulator? 
i. Glass, ebonite, tap water 

ii. Ebonite, wood, graphite 
iii. Diamond, plastic, vinegar 
iv. Plastic, glass, ebonite 

49. In distilled water if we add two teaspoons of 
critic acid, then it becomes: 
i. Insulator  
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ii. Conductor  
iii. Semi conductor  
iv. None of these  

50. The Kyoto Protocol agreement is to 
i. Increase the emission of greenhouse gases 

ii. Decrease the emission of greenhouse gases 
iii. Increase the emission of sulphur dioxide 
iv. Decrease the emission of sulphur dioxide 

51. Which of the following organelle is known as 

powerhouse of the cell? 

(a) Golgi body 

(b) Chloroplast  

(c) Mitochondria  

(d) Plastid  

52. Where does fertilisation occurs is mammals? 

(a) Uterus  

(b) Fallopian tube 

(c) Oviduct  

(d) Cervix  

53. Binary fission occurs in –  

(a) Amoeba  

(b) Paramecium  

(c) Planaria  

(d) All of these  

54. Egg laying animals are known as –  

(a) Viviparous  

(b) Oviparous  

(c) Sterile  

(d) None  

55. The genetic information is carried by which part 

of the sperm? 

(a) Tail 

(b) Middle piece 

(c) Head 

(d) All of these  

56. Diabetes mellitus is caused due to deficiency of –  

(a) Glucagon  

(b) Insulin  

(c) Both a and b  

(d) ADH 

57. What is hormone? 

(a) Organic complex substances  

(b) Chemical messenger  

(c) Blood cells  

(d) None  

58. Removal of top fertile layer of soil by wind of 

water is called –  

(a) Latching  

(b) Erosion  

(c) Siltation  

(d) Weathering  

59. An example of in site conservation is –  

(a) Zoo 

(b) Botanical garden  

(c) Biosphere reserve  

(d) None of these  

60. Which of the following organelle is called kitchen 

of the cell? 

(a) Chloroplast  

(b) Mitochondria  

(c) Endoplasmic reticulum  

(d) Golgi body  
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ANSWER KEY 

1 b 21 a 41 a 

2 d 22 a 42 d 

3 c 23 d 43 d 

4 d 24 a 44 c 

5 a 25 d 45 c 

6 a 26 b 46 c 

7 d 27 d 47 c 

8 a 28 b 48 d 

9 a 29 a 49 b 

10 c 30 a 50 b 

11 b 31 b 51 c 

12 d 32 b 52 c 

13 c 33 c 53 d 

14 d 34 b 54 b 

15 a 35 a 55 c 

16 b 36 c 56 b 

17 c 37 d 57 b 

18 d 38 d 58 b 

19 b 39 d 59 c 

20 b 40 c 60 a 
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